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3.

4.

MEE WA BAREERNERT  BAFNERFEX TERRA -
B (FEmS, 4 505E)

T BRBE P9 AR 88 SR i (enteric nervous system) » {A] 853 ?
(A) EEMMERFT LGRS EThEE

(B) TEMENNE F S R e E B ThEss A

(C) FEIRCERSE T B S  INhREEr A

(D) ELEMRESTE FHIRHER

2. FrEERES G

(AP (BYEAEIFR (O IErEaRAT AL (D)ﬁﬂ?%ﬂﬂ'“ﬂ?i‘ ﬁ?ﬁ@

T SR © o
(8) RISHIHERES) (mass action) (B) ALFIPIHAAN (C) RIFIHEkASML
(D) KM 2 Ze R

BHEE T A i ©
(A) FHEATIRR(mucus cells) (B) F#BFf(principle cells)
(C) IAATRE (parietal cells) (D) EAHRIFIIRARNE

- TR SR (secretin) RORLILIAE ERE ?

(A) BEEWEEANES/ MBS IBEINFE
(B) BEIEY)EEA/NED B WBENE
(C) BUBREERES WA EHRER

(D) BRILREERRR S8

TR R (renin) - Iﬂl‘%‘ﬂﬁﬁfﬁ(anglotensm)ﬁféﬁz&’dh_ H%EFE‘? :

T(A) AR FREmM

(B) ZEMEIWAEFR (angiotensin Iy & @ﬁﬁ%(aldosterome)ﬁyﬂi@j}n
(C) ZEMEWHERICIEHEEFR (converting enzyme)ﬁ%ﬁiﬂﬂml&ﬁé’%
(angiotensin IIT)

(D) PRI ISHESR (angiotensin DiZERIEA ﬁ/ﬁJZZtémlmllﬁlﬁ?ﬁ

TR EFIEHEE (atrial natriuretic factor, ANFY RS Zﬁﬁlﬂ@ﬂ ESER 7
(&) ANF %7](%%%5%1@73[1 (B) ANF rsmlybERRIE N o
(Cy ANF B— {85 MR B (polypeptide) (D) ANF i BEFHE

TIt{AEEE] \iﬁi@iﬁﬁ(glom‘?mlar filtration rate)i& i ?
(A) - BYNRPIBIM B HOME R
(B) B/HENBIAR

(C) ARR/|Ehfik(afferent artericle)f#z

(D) SBIHHETEiler) EHRD

A#EE
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9. THIERFH R E(antidiuretic hormone, ADH) 7 #5558 2
(A) KEWR KB ADH K
(B) KREAKINH] ADH 43810
(C) FERRFRER ADH [ - EELISEFR
{D) ADH $8RE (collecting duct)¥ 7k S5-I K€ 51

10. BRIt B O it (cardiac output) By F 43 L EET 7
(A)50% (B)25% (C)125% (D)6.25%

11. E(Osmosis)EHE A
(A) ¥AB(Solvent)HH B & B VAR (Solute) B IBLRB LB
(Semipermeable membrane)iia AR S B s
(BY BRIH RS EREREERLEIETME R REAE R
(C) FE S EE AR R ELEE RS R R A&
(D) #E HHEIE B AT e B B S <P T 2 AR A T R 1,

12, EEMRARSBRTEE "BFEGEE” AR EFght or Flight response)
FERERS _
(A) FREREZRME(Cholinergicy S R B
(B) IEE FMR3ENoradrenergic) RATHEIE
(C) JESEHARR LB B (Reticular activating system)HE
(D) EIEEESCEE

13. SHASE THIM—FRER T - S-MAT HARHE AR (Oxygen-hemoglobin dissociation
curve) & A ZEHIEE Bh
(A) BEalefiRy (B) EBEFEEEE (O) MIFESECEER
(D) 2,3-diphosphoglycerate(2,3-DPG)HERF

14, EIEBRBIIRERZ FFKEBR 35 mmHy  FRIRAGZ BKBE 15 mmHg - fHIMEEE
EES 22 mmHg - AAZAEFFARS | mmHe - ESEBRISIEES 0 mmHg - BIEE
W% 4R ( reabsorption pressure) E{a] ?

(A) 8mmHg (B)10mmHg (c¢)l4mmHg (D)22 mmHg

15, HEIBEE(Puise pressure) R HCHEBE Systolic pressure) AT IR (Diastolic pressure)id 2 ° &
75 8 2 RE 100 mmHg, B MHEE S 120 mmHyg » FEMREC NGB ES D 7
(A) 50mmHg (B)40mmHg (C)30mmHg (D) 20 mmHg

16, ERINEHE — 72 (Constriction)BR - MNABCRE RS/ VER  HIAER
qERAIEL  SEIOBLVE IR EE TN —HE ? '
{A) FiE(Flow velocity) - K& B HMAE(Blood pressure)ts Tk
(B) ¥EsEiE 0 B o B dighn
(C) FsE T e B h
(D) FEESEI{E R T %

kA
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17. 8 M R (Vascular bed) 7 8 i BE (Perfusion pressure) i@ INAF » 48 5 R ITEH
(Autoregulation)EFR R & R 4£ THHITERESR 7 '
(A) IMFE(Blood flow)i&hNi B MR JJ(Vascular resistance)ytis& .
(B) MUURIENHER METH A E
(C) Mie-T2MEZ mETH HanEin
(D) N0 A BB R M ERE Ak

18, FEIARIEIEZ Stenosis) R R > EELCEEEFRELENEE
(Hypertrophy) * SLAEMIEERNFE BRI ?
(A) MEINLEEE SI(Wall swess)  (B) R EEEBI D
© HLEERNEMEEY (D) HEOE BTN

' WES I O M P F A B R TSRS ARG L MR
HRRBASBERY 7 '
(A) 42 R K B4 E (plasmin)  (B) BN AS R A (thwomboxane As)
(0] ﬁﬁﬁﬁgﬁ(fibl'inogen)ﬁﬁgﬁﬁ¥ D) —& b &E (nitric oxide) B PGL: (prostacyclin)

20, ERERFMETEIEESS R BB AFIRME T (diastolic murmur) » EERBAT ?
(A ELEBES @) SLEEBBE () GIEIR%E (stenosis)
(D) {FIEMEAsE T2 (insufficiency)

2. AEEERERE BN - SRR
(A) 120 meter/sec  (B) 12 meter/sec  (C) 1.2 meter/sec (D) 0.12 meter/sec

22, 7EANHINE 2 Nat/K+ ATPase » HAE—REBRITT » i Nat/K+ZLh
£+ DUR AL —#id IR E AR EERER
(A) 2/3 » depolarization (B) 3/2 » depolarization (C) 2/3 » hyperpolarization
(D) 3/2 » hyperpolarization

23, AMEFRFREBAY excitable cells » FANIRME [ =D UIRR i TR T8E ?
(A BB TR A L e —
B)F M TR ER SR T EERE P —
(C) i BE R B EMRA P —
(D)$ipge T S A TR A T B = he i —

24. ETER B I 5N muscle spindle 22 B ARRKE + RIRHENR *
(AL —VERVKER + PR=TEAVEEE (BRI RIS - RE=TRAERE
(CME=TRANSNE =SB (DR FRA L =TRAN & e

25. THITREATH A B PIRARFA - S MEAERZWHE - B IDRIFA R

TR ?
(A) serotonin  (B) norepinephrine  (C) enkephalin {D)acetylcholine

ARE
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26. ﬁ&'@)\ﬁﬁﬁﬂﬁiﬂigzw—ﬁlﬁ B A BEnSHi o BB ARRE S  BES 7
(A) ZB3E (frontal cortex) |75 (B) THEE (parietal cortex) T
(C) FLFE (occipital cortex) #£77 (D) FEXE (temporal cortex) BT

27. [EEEE{RHIENATR - BEEIREWVVE R S RTE  HIT - SRR
A% FHREERR - ERRgATAABEE o SRR R RSO TREER
(A)TTRE (hypothalamus) BGEE[E] (hippocampus) FHEHZT—ET
(B)¥@B Il (hippocampus) BEF{ 4% (amygdala) &P ZE—ET
(O (4% (amygdala) K TRE (hypothalamus) FEEG 2 {E—8 7
(D&M (hippocampus) BiZ{"#% (amygdala) B Fif (hypothaiamus) =
Hrhie E—E

28. TIIW—IEERE%R WAL IEREET SRR ML 7
(AYAIGERZERR B (frontal cortex) (B)ELEAZ (basal ganglia)
(CYFTAE (hypothalamus)  (DVNEEE (cerebellar cortex)

29. FEE R AR AR MRS R S IR IR - Bt — R )
SR B B (RN - HENEEE (G LR St T IR R
(A) EFHEERBUR » BACER < I {ETNEE
(B) -FESRmUAR » E B R R B AT
(C)_EFERENN » BEASEEN & IS (HI RS
(D) EFH RS - {BRARE R I E A

30. FEHFBALZARET S E — BB LIRS (afier hyperpolarization) - i
T’iﬂﬁ%ﬁiﬁ? [CIEGELHE{E (resting membrane potential) « SFRTEHIH— BB E
| EEREEE B IR RER R ¢

(AYSHEETBHE 2 1E{r. (Na+ channe! activation)

(B) S8 FMBE < &L (K+ channel activation)
(C)$RMETHIEZ 75l (Na+ channel deactivation)
(D)$FiE B 2 15l (Nat channel deactivation)

31 E—ELARI2 2 TE (total lung capacity)& 5.5 7 \TI fifit5 & (vital capacity) & 4.3
DFF, R R (inspiratory capacity)® 3.5 AF. FHEMEEELR®, FHAsER
A NFHIRAS?

(A 1287 B®2548F O28% OO08AF B L&k

32. BARYESEE (ventilation BRI B (perfusion) I ELIE(V/Q), T 7Rk A 2 IF /7
(A) TEBTHYERR (base) ZTHE apex ), V/IQ FiHfH{E
(B) IEERY V/Q 5 0.6.
(C) NitEHRRRE Z2(Pulmonary artery occlusion) EE{E V/Q
D) FHRShunt)fE(E V/AQ
(B) FE V/IQ EIERK Peo: &K

BkA




A% 186

B3y o8 MK 088 B 2R -3 48 A A Bl

#e a2y A3 © 186

% F A% 5 "

- (D) FEIFEANEE RN (nternal oblique muscles)

33, FYIEFRME S R R (diffusion)?

(A) - TFBMolecular weight)  (B) BEFERYEE (Membrane thickness)
(C) BYERYEETE(Menbrane cross-sectional area) M) (B B
(E) AL®RE

34. W EREBohr effect)E
(8) ZERE BN R SRIERRAR AR
(B) pH EIG e R SRR AR G 1
(C) [MALEEE SRR, Eig i — S ixnufRAE
(D) —&E (LRl kit S E £ ST (hydrogen ion) & EHRESRBE T (bicarbonate)
(B) LALEIE :

F/MERIEE PR ERINT © MRAH (ddal volume) = 400 ml » MR EEER
(breathing frequency) = 14/mine FEIRSERT » HhESEE P B (ntraplenral pressure) = -5.0
cmhO e —ORGE IS ARE = -9.0 cmIRO - FIFEMEOERL » [BIE T HIMRE -
35. T/ NERGHTZ B HENE {4 (dynamic lung compliance)} '

(A) (_).01 lemH:0 (B) 01 cmHOMAmin  (C) 010 VemH:O

O 020 cmH:OM/min (B 1 lVemH.O
16, F/NBRYES sEFEEE (minute ventilation) & ¢

(A)96 ¥min  (B)7.6¥min (C)5.6Vmin (D)3.6Vmin (E) 5600 Vmin

37, ﬁﬁiﬂﬁ:‘ﬁ@ﬁ(oxygcn dissociation curve)R (@A HIRE » (RE :

(A) pH %K (B) = S bR B TR (OB T (D) 2,3-diphophoglycerate E[ﬂﬁﬁ
(B) PLEESE
38, FERT T FI{A & 2R

(A) fERmA(diaphragm)Ed4t IR (external intercostal muscles)

(B) EfRANEEAFHEANL

() AHEhRENEE PITORAAIL

(B) ILE&RE -

39, THIgRuL & ERE?

(A) AL R EL T8 5O L P T L RO AR U R TLARHEC fast glycolytic fiber;
FG)

(B) RIS HANERERF TS M AIBAMAE (slow oxidative fiber; SO) ~ & {LEY
I B MEAHE( Fast oxidative fiber; FO Y B SEAETMF MM fast glycalytic fiber; FG)

(€ —{BE S EE T (motor unit) T IR ST DS (L BB HNKRAE ( slow oxidative fiber)
ST (fast oxidative fiber ) R ABAREIHANARAE (fast glycolytic fiber )

(D) FEfEAVBAEME (slow glycolytic fiber) AL FTTBRZE—TUNAMRAE

(8) SEENETTHAIMERR ¢ FG 1YIEEhEE TT< FO HEEETT< SO tEBIETT

40. THIGEMAESEIR?
(A) TG HEFEILER SR (ropomyosin)
(B) UEFE B EHE (Myosin heavy chains ) 7EHELEE LERERIRH A S
(©) TEEBH A E SR PRI E(Actin/myosin ratio)LL B &AL/
(D) A1EATFEEBNEE {i(action potential)F HEARHE

B) WA
A&
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41. You have discovered a “novel” hormone which structure is a steroid. Which
statement is most likely to be INCORRECT about the new hormone?
(AYTt will be stored in the cell in membrane bound secretory granules.
(B) It will probably need to be relatively tightly associated with plasma proteins to
be carried in any appreciable quantities in blood.
(C) It will probably have its action by entering the cell and binding to its receptor
in inside of the target cell
(D)1t can be effectively administered orally.
“(E) all of above

42. Al of following hormone acting through c AMP, EXCEPT:
(A)antidiuretic hormone (ADH)
(B) catecholamine
(C) growth hormone-releasing hormaone:
{D)luteinizing hormone (LH)
(E) progesterone

43. In one day, owing to studying for the final exam of physiology, a junior medical
student stayed up till Bam. Which hormone would have a higher blood concentration
at 7am?

(A) cortiso}

(B) growth hormone

{C) testosterone

(D) thyroid stimulating hormone (TSH)

(E) none of above

44. Estradiol produced by ovarian granulosa cells facilitate the synthesis of LH
receptors in granulosa cells,  This is an example of:

{A) autocrine activity

(B) endocrine activity

{C) neurocrines activity

(D) paracrine activity

{E) 2ll of above

45, the secretion of leptin is from:
{A) brown adipocytes
(B) white adipocytes
(C) brown & white adipocytes
(D) hepatocytes
(E) all of above

% &
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46. The actions of growth hormone on body metabolism are:
{A) decreasing the rate of protein synthesis in muscle
(B) increasing the rate of glucose uptal'(e in cells
{C) increasing the use of lipids for energy
(D)all of above
{E) none of above

47. Which following statement is INCORRECT? Insulin:

(A} Regulated by the increasing blood glucose

(B) increase glucose uptake in muscle by increasing the number of glucose
transporter 4

(C) increase glucose uptake in adipose by increasing the number of glucose
transporter 4 '

(D) increase ghicose uptake in liver by increasing the number of glucose
transporter 4

(E} none of above

48. If a patient’s hypothalamus is destroyed, likely effects would include all of the
following EXCEPT:

(A)a decrease secretion of anti-diuretic hormone {ADH)

(B) a decrease secretion of estrogen

(C) a decrease secretion of growth hormone

{D)a decrease secretion of prolactin

() none of above

49, Which following statement is INCORRECT? the aldosterone:
" (A) secreted in adrenal cortex
(B) is a plucocorticoid hormone
{C) its secretion is controlled by angiotensin II
(D) action on kidney to increase Na* reabsorption, but H" & K* excretion in
order to raise blood pressure
(E) all of above
50. A}l of the following hormones increase throughout the duration of pregnancy
except:
(A) estrone
(B) human placenta lactogen
{C) human chorionic gonadotropin
(D) progesterone
(E} prolactin

R




